
SAP ABAP table /RPM/LINK_CYCLE {Mapping Item sequence in a life cycle}

_RPM_LINK_CYCLE

CLIENT [CLNT (3)]

LIFE_CYCLE_ID [CHAR (15)]

ITEM_TYPE1 [CHAR (15)]

ITEM_TYPE2 [CHAR (15)]

_RPM_ITEM_CYCLE

CLIENT [CLNT (3)]

LIFE_CYCLE_ID [CHAR (15)]

ITEM_TYPE [CHAR (15)]

 /RPM/LINK_CYCLE-ITEM_TYPE1 = /RPM/ITEM_CYCLE-ITEM_TYPE 
0..N

1  /RPM/LINK_CYCLE-ITEM_TYPE2 = /RPM/ITEM_CYCLE-ITEM_TYPE 0..N
1

_RPM_LIFE_CYCLE

CLIENT [CLNT (3)]

LIFE_CYCLE_ID [CHAR (15)]

 /RPM/LINK_CYCLE-LIFE_CYCLE_ID = /RPM/LIFE_CYCLE-LIFE_CYCLE_ID 

0..N

1


